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I.- Which chemical is used for Cloud Seeding?
(A) Silver iodide
(B) Silver chloride
1 Iron oxide
(D) Sulfur dioxide

2. Which aerosol is responsible for ‘Asian
brown cloud’?
(A) Sulfate aerosol
Black carbon aerosol
(C) Organic aerosol
(D) Dust aerosol

3. What is the primary source of PM,
emissions?
(A) Industrial processes
( chicles emissions
(C) Biomass burning
(D) Natural sources

4. Whichof the following is a consequence of
climate change on ecosystem?
(A) Increased biodiversity
B Decreased biodiversity
(C) No change in biodiversity
(D) None of the above

5. What is the impact of climate change on
global food production?
(A) Increase in food production
\(B7 Decrease in food production
(C) No change in food production
(D) Fluctuation in food production
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6. What is the economic impact of climate
change on global GDP?
(A) Increase in GDP
Decrease in GDP
(C) No change in GDP
(D) Fluctuation in GDP

7. What is the impact of climate change on
coral reefs?
(A) Increased growth and diversity
(B) Decreased growth and diversity
(C) No change
‘}D’)/Incrcased bleaching events

8. What term is often used to describe
individuals who are forced to leave their homes
due to environmental changes on disasters?

(A) Migrants

(B) Refugees

@7 Environmental refugees

(D) Internally Displaced Persons (IDPs)

9. What is the approximate amount of solar
radiation that reaches the earth surface?
(A) 100 W/m’
(B) 200 W/m’

ST 300 W/m®

(D) 400 W/m*

10. How does climate change contribute to the
intensity of hurricanes?

(A) Itdecreases the strength of hurricanes.

B It increases sea surface temperatures,

providing more energy for hurricanes.

(C) It reduces ocean temperature for
weakening storms.

(D) It prevents hurricanes from forming.
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11. Which of the following natural hazards is
most likely to increase dye to change in rainfa]
patterns caused by climate change?

(A) Tornadoes

BT Drought and flood
(C) Tsunamis
(D) Earthquakes

12. WhichIPCC Assessment report introduced
concept of ‘Carbon budget’?
(A) AR3
(B) AR4
LT ARS

(D) AR6

13. According to the IPCC AR6 what is the
primary cause of ocean acidification?
(A) Decreased carbon dioxide level in the

atmosphere
(B) Excessive plastic pollution in oceans
CrIncreased carbon dioxide

concentration in the atmosphere
leading to more CO, absorbed by the
ocean

(D) Melting ice caps

14. Which of the following is a key principle of
GCF?
(A) Providing funding only for mitigation
efforts
(B) Providing funding only foradaptation
efforts
\}Gj Supporting country ownership and
leadership in climate change efforts
(D) Providing funding only for projects
that benefit developed countries

15. What is the relationship of GCFwith
UNFCCC?

(A) The GCF is a subsidiary body of the
UNFCCC,

(B) The GCF is an independent
organization that supports the
UNFCCC.

\(&? The GCF is 4 financial mechanism of
the UNFCCC,

(D) The GCF has no relationship with
UNFCCC.
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16. Which of these gases has a shorter
atmosphere lifetime, but is more potent in erms
of global warming potential?

(AJ Methane

(B) Carbon dioxide
(C) Nitrous oxide
(D) Ozone

17. How many missions are outlined in the

NAPCC?
(A) 6
&
(Cy 10
(D) 12

agreement promotes

18. Which international
s climate

low carbon development as part of it
goals?
Paris Agreement
(B) Kyoto Protocol
(C) Montreal Protocol
(D) GATT Agreement

19. Which of the following is not a key
component of climate change planning?

(A) Emission reduction strategies

(B) Infrastructure development for

enewable energy
Population growth management

(D) Disaster risk reduction
preparedness

and

20. Which sector is most affected by climate
change and often included in climate change

planning?
(A) Information Technology

\LB»)/ Agriculture

(C) Manufacturing of non-ren
energy

ewable

16. @2 simafEa T @R ARG S
o, (g Tafe Tasel gfad A fi (A «fb
cafér =ife=ie 2

(A) fra

(B) P GRIHLE

(C) WEGM 3R

(D) <T@

17. NAPCC-(8 &4 fiwA-gg DAl el

AT
(A) 6
(B) 8
(C) 10
(D) 12

18. @R SneEifes pie o TR PG
wox B W i SIS TeAlfee At
(A) e e

(B) Torais! (ADIe

(C) W% (DI

(D) GATT ¢f&

19. Frva @R werar] #AEea sffereria 95

Toftwid @A ?
(A) TSt gm FE
(B) 7wl e & ATl BaEd

(C) Tz i AT
(D) fis-a3 3w P @R G

20. (@A e TEary AfGSEra ql AIGE @b
sreifae 20 @32 2RE G Afzaea HAfaasi
HYYE T ?

(A) sUzIfE

(B) ¥
(C) we(armae Sl «{fis BeA

(D) i et

(D) Fashion Industry



21. How does climate change affect the timing
of seasonal events in animals, such as migration
and reproduction?

(A) It has no impact.
[t causes seasonal events to occur
earlier or later than usual.

(C) Ttleadstothe extinctionofall seasonal
events.

(D) Itcauses animals to stop migrating
together.

all

22. Which factor exacerbales the impact of
climate change on biodiversity”
Habitat fragmentation
(B) Increased migration of species
(C) Conservation efforts
(D) Natural disasters

23. What is the m
Agreement?
(A) To eliminate all greenhouse gases
\gﬂ*gfo limit global warming to well below
2 degrees Celsius

(C) To promote fossil fuel use
(D) To increase carbon emissions

ain goal of the Paris

24. What role do aerosols play in climate
change?
(A) They warm the atmosphere.
M hey cool the atmosphere by reflecting
sunlight.
(C) They have no effect on climate.
(D) They increase greenhouse

concentrations.

gas

25. Which of the following is a direct effect of
climate change on oceans’
(A) Increased salinity
(B) Rising sea levels
(C) Decreased fish populations

\93)/ All of the above

(7)
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26. What is the significant effect of climate
change on food security?
(A) Increased crop yields worldwide,
(B) More predictable weather patterns,
Disruption of food supply chains.
(D) Decreased pest populations,

27. Whichcountry is mostvulnerable toclimate
change impacts according to IPCC reports?
(A) Canada
VBT Bangladesh
(C) Russia
(D) Australia

28. What is the effect of climate change on
human health?

(A) Reduced incidence of diseases
Increased heat-related illnesses and
deaths

(C) Improved air quality

(D) Decreased allergies

29. How do communities can assess their
vulnerability to climate change?

(A) By ignoring Jocal environmental
conditions
By conducting vulnerability
assessments and mapping risks

(C) By relying solely on government
reports

(D) By avoiding any discussion about
climate issues

30. Which sector js most responsible for
greenhouse gas emissions globally?
(A) Agriculture
(B) Transportation
) Energy production
(D) Waste management

(8)
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31. Which gas contributes most to the
greenhouse effect?
) Carbon dioxide (CO,)
(B) Methane (CH,)
(C) Nitrous oxide (N,0)
(D) Water vapor (H,0)

32. Which of the following is a natural hazard
exacerbated by climate change?
(A) Earthquakes
Floods
(C) Volcanic eruptions
(D) Tsunamis

33. What does “climate resilience” refer to?
(AY The ability to recover from climate

impacts

(B) The increase in greenhouse gas
emissions

(C) The reduction of biodiversity

(D) The stabilization of global
temperatures

34. Whichinternational body assesses scientific
information related to climate change?

(A) World Health Organization (WHO)
Intergovernmental Panel on Climate
Change (IPCC)

(C) United Nations
Programme (UNEP)

(D) World Meteorological Organization
(WMO)

Environment

35. What is an example of a renewable energy
source?
(A) Coal
(B) Natural gas
Wind energy
(D) Nuclear energy

(9) ENVSC3031
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36. Which layer of the atmosphere contains the
Ozone layer?
(A) Troposphere
Stratosphere
(C) Mesosphere
(D) Thermosphere

37. The first ‘Green bond’ was issued by which
organization?
World Bank
(B) European Central bank
(C) Asian Development Bank
(D) State Bank of India

38. What is the full form of CIS?
(A) Cloud Information Services
Climate Information Services
(C) Cloud Instruction Services
(D) Climate Institutional Services

39. Which one of the following is responsible
for maintaining Earth’s energy balance in the long
term?

(A) Volcanic eruptions
(B) Changes in Earth orbit
(C) Solar radiation
NPy Balance between incoming and
out-going radiation

40. Which of the following is an example of a
low carbon technology”
(A) Coal fired power plant
Solar photovoltaic system
(C) Diesel generators
(D) CNG powered vehicles

(10)
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